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AP Calculus TEST: 1.1-1.4—Limits and Continuity. No Calculator. BC = jmu
Part I: Multiple Choice—write the CAPITAL LETTER in the ’
blank to the left of the problem number. 2
Use the graph of the function f (x) shown at right to answer — :
questions 1. 3 <
5 59) # 30 I EENREEE
IA\ 1. lim f(f(x))z x>-7 :
‘ x——2t ’é”""/— &(X) = l 2 .
e R Frow beions = Erone lefk
-3

(A)1 (B)2 (©)-2 (D)0 (E)No such value exists

U Zrlp DY IO
+ey+x oo

Il Qlo

z
A %ZC’=/_'.. iff_l’/:h o+ =+

* x=0 X0

2
2+x) +3(2+x)-10

2. i 230 #30243)
x—0 X x>0
A)-3 BO ()7 (D) 9 (E) No such value exists

A 57%0——%\/A—vi00

. M(x+4)_ 7
6 3. xl_l)rg_m— — L
plegin =30 for 5,'}"jj 7 4
o (A)oo  (B) —oo (C)ﬁ (D)g (E) 1

-2
Xz A=l
3x+10, x<-2 D 2. Yo=¢ 2 3=
E 2x e X9z X1
4 J(x)=y T, —2sasl we oS-t o= $9=50=0
M l-[':“f/ 50, $i Corfli@}é=’z X%[/'#V, So,‘f’l'5 ﬂaa[—am".
X—l, x2>1 e xX=|

Let f(x) be defined by the piecewise equation above, then f (x) is continuous
(A) forall x#-2,-1 (B)forall x#—-1 (C)forall x#1 (D)forall x#-2,1 (E)forall x#-1,1
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of which of the following?

(E) y=3x-7



Part II: Free Response: Show all work in the space provided. Be sure to use proper notation, notation,
notation. No notation, No no points!!!
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(d) Find the values of a and b that make f continuous at x =2. Show all steps, and use correct notation,
notation, notation.
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(e) Using the 3-step definition of continuity at a point, determine if f (x) is continuous at x =14. Justify.
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